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1 IR A DER (BfI: [)
FHELEA) |mEEFEEe)| E56A)-(B) &%
1 fEHE 514,095 1,171,158 A 657,063
2 88 3,278,880 3,212,640 66,240(@500M x 12H X 594 A % 0.92
3 A 0 0 0
IRA&& 3,792,975 4,383,798| A 590,823
2 XHDE (BGI: [)
FHELEA) [mEEFEmEe)| Z56(A)-(B) ik
1 ERREARTE 100,000 100,000 0| JH¥E M
2 ERRITEE 1,110,000 1,180,000/ A 70,000
ZN=F:S 350,000 400,000{ A 50,000
XAe&R 700,000 700,000 0
RATH 20,000 30000/ A 10,000
BDHR 40,000 50000/ A 10,000
3 ZER 5,000 15,000 A 10,000{1,000 x5ZE &
4 EEENE 2,059,335 2,508,798| A 449,463
EENER 1,046,226  1,221852| A 175626| RIHNRSE
XALER 343,109 556,946| A 213837| BIFKANRSE
EHREmE 570,000 630,000 A 60,000
REE 100,000 100,000 0| BRBAREBE FRICEXRBE
5 mBEE 350,000 350,000 0| BFE, SXEMRE
6 EREENEME 50,000 50,000 0
1 ERE 30,000 30,000 0
8 P& 88,640 150,000 A 61,360
X &R 3,792,975  4,383,798| A 590,823
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FHELEN |wEEraEe)| =56A)-B) e

1 Yvh— 216,260 315,680 A 99,420
2 Bk 424050 480,590 A 56,540
3 RELFHE 58,300 16,610 41,690
4 NL—iR—JL 64.400 86,504 A 22,104
5 EIk 13.860 27,885 A 14,025
6 /N\RykiR—)L 49500 86,328 A 36,828
7 INREURY 113,490 100,039 13,451
8 F=R 0 20,510 A 20510|SEEXVIRE D=6
9 RoULy 85,826 0 85,826
10 ¥V R 20,540 87,706 A 67,166

& F 1,046,226| 1,221,852| A 175,626
XA &R (B M)

FHEEE(A) |HEETEEB)| Z5E(A)-(B) ]

1 EE 5385 16,155 A 10,770
2 BEME 26,842 20,625 6,217
3 BEXE 117,540 99,160 18,380
4 FE 25514 62,909 A 37,395
5 MRZEHE 82000 110,000 A 28,000
6 ZEfMT 5,730 43934 A 38204
7 MuE 91,455 119,606 A 98,151
8 BE= 19,146 20,185 A 1,039
9 A8 23.800 33,000 A 9,200
10 BEE 15.697 31,372 A 15675

A& F 343,109 556,946 A 213,837




